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1. Ryotwari system was introduced by Munroe in .. districts - i ]
a. Telangana b.Coastal ¢, ceded d. Godavari
2. The first session of the Indian National Congress & t ... in 1885 [ ¢
a. Delhi b. Lucknow ce Bombay d. Chennai
3. In which year Vandematharam movement was started il
a. 1904 b: 1985 c. 1906 d. 1907
4. The Rowlatt act was criticized as d |
a. 1935 act b. 1919 Act ¢. Divine act . Devilish Act
5. In which year Hyderabad was merged in India [
a. 1946 b. 1947 or 1948 d. 1949
6. Raja Rajeswara or Brihadeswara temple in at e
a: Madurai b. Chennai ¢. Tanjaore d. Sri Rangam |
[ 4

7. In the year 1942 which movement is started is started
c. Salt-sathyagraha d¢ Quit India

a. Vandemathram b. Non-cooperation
8. The battle of Rakkasi Tangadi was held in the year

a. 1556 A.D b. 1546 A.D e 1555 A.D
Bk viai st aisis o st was Chola ruler
a. Prola b. Amogha Varsha
10. Macro polp WAs &N ....ccccverniiininin traveler
a. American. B. Russian c. [talian
G

L x

d. 1565 A.D

¢ Raja Rajendra

|

d. Prataparudra
b

d. Iranian

11. Which sea is separated the three continents [Europe, Africa, Asia]

L

a. Black sea b. Arabian sea @.Mediterrean sea  d. Red sea
12 ooeiosiiseeesessssneenn0f the solar energy is reflected back by the Earth’s atmosphere [ o ]
arl/3 b. Y c. 1/5 d. 1/6
13. Earth moves on its axis on ... B0 s s ssbiva direction i |
rth to South  d. South to North

¥ West to East c. No

......................

a. East to West
14. Eskimos used to sleep on a bench covered by
a. Human skin b. Animal skin

15. Kerala and Andaman in India have ................... Forests due to
arEvergreen forests b. Deciduous forests c. Throny forests

c. Both A & Bd. None

high rainfall
d. Littoral

f the largest reserves of Barytes mineral in the world

]

teg, |
swamp forests

= 1

16. Which district has none o
a. Kadapa b. Chittoor <. Ananthapur d. Kurnool
17. The rivers Krishna and Godavari starts i “ueRA
a. Eastern Ghats heWestern Ghats ¢. Deccan plateau  d. none of these
18. Rocks which have cracks or pores in them can contain water are called [k ]
* a. pervious rocks . br impervious rocks ¢. Granites d. Lime stone
19. In Indi@ ..ovvenrnrmnemininianinninins % land is cultivable a9
a. 50% b. 55% e: 40% d. 45%
20. SilkWOrms grow OM ......cooseseessassssens trees b
a. Babul br"Mulberry ¢. Tamarind d. Glive
21. Maximum number of members in Rajya Sabha 7 e e
a.220 * A b 230 c. 240 d. 250
22. The country is governed by the Cabinet headed by ' l p |
a. The P.M b. President c. Vice-President  d. Speaker
23. There were ........ocovvene women members in our constituent assembly o3
a. 14 b. 15 c. 16 d13
24. Law making body at the state level giat I |
a. Constitution br Legislative Assembly ¢. Supreme court  d. Parliament
25. An example for a crime ' S
a. Bribery b. occupying another’s land c. divorce d7 run away {rom debts
26. Minimum age required to get the right to vote in our country is =
ar18 years b. 21 years ¢. 20 years d. 25 years
27. The law to abolish the Zaminadari system was passed in ... by all state governments|c | .
a. 1960 b. 1950 o 1940 d. 1980 l
28. Who is our president ] _ SLL
har Raob. Sri Chandra Babu naidu c. Sri \Modi &:Sri Pranab Mukerjee
| &

a. Sri Chandra sek
ds to all voters are issued by

29, Voter identity car

o State election commission b P.M. c. CM . Snitend Choot

leader of Sarvodhaya _ e
3% %:n;;uf b. Nethaji ¢. Vinobhaji d. Tilak | @
. vad deposit is also known as ‘ J

31. ]:;‘:gn cgrod b. Term deposit ¢. Small savings dffDebit card

b +vureens introduced poowerloom production in India
39, The o b. Protugese c. Russians d, Chinese

A British




. B

33. oo Sarees are world famous L varam
a. Tkkat b. Gadwal c. Mangalagiri d Dherma kool
34, W.H.0 means TS
' a. World Health Officers b, World Human organlzatlon
cAWorld Health organization d. World help organizers [ b ]
ial Revolution too place in
355;_1?:‘:11;?” b, England c. Russia d. USA
BIOLOGICAL SCIENCE b .
36. A plant shed its leaves during winter, this is due to [ I :
a. Water scarcity brResponse to temperature ;
c. response to pressure d. response to gravity
37. Gums oozes from the bark of plant, due to the process of L3 B,
a7 digestion b. sweating c.A&B d. none
38, This is modified into wings B o
a. legs b. hind limbs o7 side limbs d. fore limbs |
39, The joint present near the hip is balk ) S "
a. Hinge Joint b. fixed joint c. ball & socket joint d. fixed joint
40. The tree generally seen in forests of Kurnool district but not in Chittoor district [ &
a. Accacia . Azadiricta Indica c. Tamarindus Indica d. cassia ariculata
41. Black soil is not suitable for the crop g )
a Cotton b. paddy c.A&B d. None
42. The seed that dispersed through air [# ]
a. Dendalian b, calotropis c. cycas d. Tridax
43. Yeast is [ev ]
a. multi-cellular organism b. tri-cellular organism
¢. uni-cellular organism d. Bi-Cellular organism {
44, Entomology deals with [ 7 ]
a. Anti biotics b.ants c. snails d. worms ‘
45, Number of objective lenses in compound microscope [ 727
a. lor2 b.20r3 c.3or4 d.4orb
46. Flamingos are protects in [T
a. Kinnerisani sanctuary b. Papikonda Sanctuary
c. Koringa Sanctuary d. None
47. Benzene Hexa chloride is . [ & |
a. In organic pesticide b. In organic bacteriocide
c. organic pesticide d . organic bacteriocide
{ PHYSICAL SCIENCE
 48. Normal temperature of human body is .........c.cocueee ; {4 & ]
& a. 34° b7 35°C c. 37° d. 36°
49, in the circuit bulbs are connected in [ ]
}—- - 7
a. Series b. parallel /J < both d. none
i 50. The net force in the following diagram 4 ’-M/ | &
!
] y ] o
;’ g 6N b.8N &V . o d.fon
51. Friction is independent of [ 55)]
@ Area of contact b. nature of Surface c. Normal force d. None r
i 52.The mirrors used by déntists [k i)
| a Convex mirrors brConcave mirrors c. plant mirrors d. All
| 53. Distance travelled by a train isZ20 km in 4 hrs. the speed of a train is P
! a 188km/h *  b.80km/h c. 60 km/h d¢790 km/h
! 54.To find maximum and minimum temperature of any ..........c.cocives is used [ B
a. Clinical thermometer bsix's thermometer c. laboratory thermometer d. all of these
- N symbol indicates Ll
a. Battery b. switch luse d. bulb
56. The element in electric cooker is made up of ot il
a. Copper b7 Tungsten c. Aluminium d. Nichrome
57. Hertz ig the unit of .................. ]
sg':'?i"c ]"f:lglh _, b.frequency « Speed of sound d. Intensity of sound
4 Car?)ro;e contains a contl;eur;gr made up of e § [+ 2]
; . Zinc . Graphite . Copper
52' ‘;nf:g:ﬁ balloon attracts pieces of paper due to ; o [ids 2, 4
T orce . brfnagnetic force c. Gravitational force d. electric static force
; CHEMISTRY
52'- g;g:rr:) ::r:ds react with m;tzgs .......................... gas is évoll;red U]
« UXygen c. Carbon dioxi i E
6;: g:i: o fiams for adetlc sid it b e 5 | s AP®
#% 62. Curd contains .......,.....?.',.lj;r;:jwater # Viieger W All gk thede

¢ a. Tartaric acid b 'Lactic acid ¢. Formic acid

b 3
e o D i S o #, i 2. AL 2 s 1 ge T Y A & o abebedicn.




< Rusting oceurs in thy ' RS
. oredip ) e P?‘;ﬂ:?:e O aviiivitin, : { LJ |
. Name the plastic y i % bedivings-inad . 4 ¢ SOEY VGRS oY
" Melariss b.sg‘:ll(:]m!aking computer & TV cabinets e |
- Which of the following is made fro ARy i b '
| Aerylic W Rayon m wood pulp (e |
. Sodium is stored in ¢. Wool d. Silk
. Kerosene i b. Petrol [of I
: g . eum -
i, «.is found in Onions, garlic eggs =y A Jers
. sodium br8ulphur . L b sl
. The most malleable metal is ..... By Helvet d. None
. Copper b.Silver LE
The main constituent of coal is =k d. Platinum
. Carbon b. Oxygen : [ & ]
. Which is not a natural resource i L I
. Soi
oil b. Water ¢. Petrol d. Plastic kg
. In AXYZ find %’ Y X
| |4 ]
| ae 42° b. 90°
e.21° °
72. (=2)**! X (-2)° = (~2)° than the value of x is ............ A ) S
a. 10 55 o o B e
73. 1+3=22, 143+5=32 than 1+3+5+7+0+11413+15+17=7 : Foal il
a. 18 b, 50 . 8
74. (3+x2=2x24+2x2 Name the i e el
R iR property involved in la ]
inxillpphcanve property b. Additive property
c. itive inverse d. right distribution of multiplicati iti
75. The solution for 5(p-3) =3(P-2)+5 i85 .ievveverrerreiirrrrrrenennns Wt Lg ]
a. 14 b.7 2720 d. 30

76. The market price of a T.V is Rs.36,000/- . If it is sold at 30% discount there is a loss of 4% than its

Cost is a loss

' [ ]
a. 2625 '{.25650 c. 18250 d. 12065061
\T ]

77. Find the area of Shaded region [
2 esm
a. 90.5cm? b. 92.5cm? c.94.5cm? JJ— o 54.9cm?
78.Which of the following is not a perfect square numbers —2\ =3\ [ ]
736 b. 484 c. 793 d. 927 :
79. The present age of Vijayas mother is 3 times. The present age of Vijaya after 4 years. 'T]‘he sum of their ages
of Vijaya and Vijayas mother respectively [ & 1
gl '3;16 b. 16,48 c. 20,60 sl 1dO 510_,20[ ]
80. Simplified form of (4x104) +(5x103) + (2x10?) + (6x10!) + (7 x 10°) + (3x10?) + (1x107) is
a. 452(1::‘:7.301 b. 52467.31 c. 45267.31 ! @-45267.0031
81. Finé a number which when multiplied by 7 and then reduce by 3 is equal to 53 e ral
a. 7 b. 8 c. 10 : g
82. V81 + Vx = 15, x=? 4 ,
a. 25 b. 36 ; e’ 49 [ d. 64 : ;
83. In figure ABCD find the area of sl'12aded region g0 AR bt
a. 800cm? b,460cm & 55 (N
: ATooR 6 )
84. \/;oo —200- V16 =? %, 3 »
a. 6 b. 13 o fot
85. . —— find the value?
e 5
] 1 d.=
2 i b.g €3 : [ & ]
| 8 :
| 86.40% of 30 F valve 9 then ﬁngsthe number Wy 4. 775 o
| a. 557 Ik :
87. x:y = 3:4 then 4x+5y : 5X'2}’" o 30:7 3 d. 7:32 8,
a. 157 b. 93 uired product is becomes (10) "
88. (-5)"! which number mulnghed the req 5 =
| ot b. 55 ; inutes [ ]
=4 ; d in 30 minu .
* 1 inl slgcond. How much distance he walked mn e
89, Raju walks 1; meters in 1500 meters ; ;
D : b, 1750 meters ; £ 1 is added to both its numerator and
@ 2556 S jon is less than the denominate if 1 18 & tw
90.The number of @ frazlt;z 1/3 find the fraction. s .
Denominator it beco e o= 1

3

| 3
'la.;



Paabit ¢ Meantal AQ”-’*‘-‘M
Srections + questions (11010) ¢ Tn the number series given below rone number g missing-

Eoch seth 16 onowed by five akernatives 19,91, ():10) and (5)-0n€ Of them 16 Yighe
anower: Sndicate 1t a5 per phe “Tnshvuckions”

'* W1, 39,91, 93, g

o 3.K.12,16, 0,03, :::f l":: =0 3B ue ay
‘4.8,16, 32,60, e 228 3. : :
3-u.8 32,646,128, ” ANS:  |.33¢ i 3.33. ::5 K30
#' *I187+729, 2‘&3:8'; ? ! ANG . 4’9_1 5 o 3 '5‘ q3356 :‘256
- 692, 560, Kop g 18 : * 36
Py 358'15’9_; i ANS 1.8 X318 3-206 k.29¢ A 108
B g, 86, 1l MOT  Bas 8 s g B, 35
« VI ANS @ 1720  g9.q4p 3702 H4-5m6 5. 65¢

4 'l' ’ ] ' ]
® % 30 e A R AnG . b 53 - 63 3:13 4.}’3 5 83
M 12.82,70, 182, L., 63y AnS: 1 BI§ 263 332 hLas 6ua

0 8a7,486,676, —ls  1k3 Ans: 1:B6b o g0 36515 hR6R K6y

prections: questions (ntors) : These ave bosed on leher onaloay.
N CPIIL ::0R: @ ANS 1 1. vy 2-WZ 3.uy K.ux K.vXx
'2- DEF:TkL:: opg: ? Ans ¢ 1 STO TV 3-vwx H-xyz 5. vy

B 2yx 1 ABC: WU Q AnS: I\EFG,  2.FGH 3-DEF k- EDF - FED
- BOE : TxL 1 NPR t 9

ANS 1 UWX  2.uyd 3-VWX h.uWwy B XYz
5 XVT ¢ RPNtL LTH ¢ ANS 2 . DRE 2.FOB 3.EcA 4-pBa B Ecg
pireckions 3 In the followin

? GuCS'l‘l‘Ons': Lﬁﬂﬁ*s a-re org-;an?ed :n a Pa'ﬂ"lada'r mdef wIH'l

(16 to2s) Some underlying  ~itevion, s[-ud?, the leHers 40 find ot the order omg oy
from 1The 9 aiternatives. or fid inthe blants

16:A, C,Fs7,0, AnS: 1-x  9.p SR ey e

" A DLGLT, AAEe AS:EMN  2.N.p 3.N0 B Mp K-M,L
igdl= 1 18 - e Ans 1l @ 2. p 3R K0 h-5
H‘Z,N,T,a,f\},__‘__ Ans: I~ TT 2.L,3 3'K,1!+-L,H A K H
20 e, Fg ks L wipe Ans 1 1. NO 2:0N 3:MN L.op 5.Ng
2. A, co,emi-, —— ,OVWXY  ANS 1-LMND 9. Nopa 3- MNOP 4 MNO K- LMND
22 LYV, Tspo, NMTT, __ Ans : {» HPoB 2'-HGFE 3:GEHE B-GHDC K. HGDC

23 EFGH FGHI, GHTT, ___ 17kl ANS : 1. TTkL 2-Tlyk 3 -HIgk 4 -HEEK 5. HkJ1
24 W,UT Rgp, NMLK, ANS: I THFGE 2+ THEFG 3-HGFED %JIHGE B -THG pe
2B ¥B WD, UF,SH, —_ ,o1  ABS:I. g 2-47 3.8L 478 5 py
D‘i?ECl‘iOns - (26 t036) < Tn each OF there questions o five Wovds ave qwen.

if 'thetf e awanqed in the . alphabebical ovder o o d

l“cﬁonq-,fd. Find oub
Hovd  which Comes fivst

26 | Wintey 2 Wing d-Winning K. Hindwill 5. Window
31+ I+ couple 2+ Counsel 3 - Counci! K- Cousin b Coumqe
¥ 1 ~veody 27200 3. 00fice boveolity 5. yeqf
49 |- ground it RIOEY. 3 - gipove h.qross R qroan

So- 1 Pavachute 1+ Pavafin 3 porade 4. pamodot B paradise



/ owe qiven: pyyy o
- from them. chopse

£ arteeensd oy Pedha’s 2 e o - L ks T T R P T

s-'fr:-D'I“VCCHO'ﬂﬁ i Questions (3 to 46) + Tn toch of fh&e foltowi"\ quatIOnSs FIVE wovds

thewt are gitke tn Some manners ond one 18 different

. this odd word: After indenl-:Fgmg its indicate it os pev
the  Instvuchons?

B Rabindia Nath Taqore

2 ¢V Raman  3.apTAbdul 4. Mother £ - Amanthyosen

3% 1- Ahmadabod il g
PI 2. Nagopur 3. kanpur . Tkanaqm A kozhikode
e otatc; 2. paraquay 3. AYqentind 4. cpile h' Canada
S P 2. omnqc 3 Manc;o &' Banano. G'Gvape
i Table 2 Chatr 3 Almorh H-Bench #. .Tuci

Vo shafEBank OF India 9. And"ﬂ'R Bank 3 Tndian Bank Y. Canaro. B A% Bank.
33 1+ Deey Bank
i | . 2! Cow 3 Eagle ke Gak " w Gigab
i © Axe 2+ sword 3 knite be shovel 5. ga0

I* Mustowd 2 Sesome 3. Corn 4. olive B onign

hO' . steveo

: ' Tramsister 3 Television 4. Radio & loud Speaker
RIYECHions - (11 to uKk) 1 Theve 15 o cerbrin veakionship - between +wo given words on the
ene(telt) side of t: gand

one word 1s qiven on the other Side Of i1 while anokher woyd 1g
iven 40 be found from

the five qiven alternativess such that smilar relation exists $n the
setond pair Tdent‘-’ﬁi the ~ight answer and {ndicate S per the "“Fnglvuctions,

Wi Bol-om‘ 4 plonts i1 Entomol0ody 1 9 |.Snokes 2.Tnsects 3 Bids %Germs B Bacteria
L2- menu i Food 3 Caba!oque b I+ Rack 2-News paper 3-Libwag & Books B Cineme
18 kandlld 14 Gjargt 13 Grobin ; 7 rkeala 2.Tami) Nadu 3 ovissa b-punjab B Goa
LA Flower i Rose :° M0mmuj H I+ Hen 9. SpaTvow 3. Cobvax b Cow 5-eaa)le
Divections i~ Questions (46 toRo)* These ave based on the fotiowing diaqroms.
l.‘ @O & o b6 ElePhanI’S s Wolves , Animab; A ‘

H7- EFHITSh ' Lai‘im-H-‘ndf .

; 4 B3 school, Teacher, student
%000 . 42 poiyqon, Rectangle, Square
RO Singers wiiter , Actor
Di7ections i- questions (Aa +056) : with the help of the dingram given below , answer
Ww?ng Questions making the iqht Choice from the qiven alternabives «Tpdicate

the onSwér as  per the Iwsbruckions- gi. Which letter vepresents dancers who are gls

but not students ?
: (8 shudents Pd  2.p Re

hy: Which lefter vyepresents qins who are both-Students andd&no

dancers L iR eq Bf (B0R i
P8 Which lettey wepresents students who are qivls but vt

P HiC  Bud B0 BB o dancers 9

G- Which \elter 7epresents Students who ave neither G173 hoy ;

kb 200 3:d 4.0 K.e

doncers 9
6. Which lelter ~epresents 98 who owe gEs neither students oy dOchVS?

B N o T T B Y R

Directions:- (A8 ko6d) A s Coded as 1 + B 15 coded a5 25 and Sp ony.

6. HGEIF . I+ 3169 9+ 87596 387965 L .3769¢ h.78hq¢

At CAIFD - 131694 2.31649  3.31946 W 396y K. 13964

A8 GCBHE - " 9326% 2.4394¢

3:73285 k.93215 K. 132RK
9. FDC»}_T : 1+ 64319 2. gn3ar  3.auarz H-64a31 K. gug)q
60- EDF@A - " Bh6ia 2 4569) 3 Kuiag H BY4169 B By eq,
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lex BrEGL . 22 I hE8 g4 & nSR1Y B weTIR K& w51 6 HRTIR
53, LATE 1 1651 9. 2659 3 2669 T TET
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ey (bF A 16 B8 1 (Sod (YW & Gap
Qood o8d D Sdovdy  hE0td

SNESE oo 2203 ?
':rr%smﬁims' o DRI o ool ,,
W 15628 5 Anb33

g 6839+ 1 = 32500 [ Q5623 A3K318 3 39633 g
6+ G417 1+ €618 a gbug 3 8653 ye 3623 g st
68 (9-13) gl 216 3. a5 K 3b
6q. 1% = I3 o gk . B 88, g BOA Lo 330
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